9¢€

21) £ x =E KA EZABEEAD () KEREHR i
E B BiEE B e | g ~ BA )|, 0R
4F18H | 5H9H 6858 | JH1/H | 8A13H | 9H4H | 10A3H | 11A8B | 12898 | 1A15H | 2A5H 3H2H = m/n - * BEFE RS
PH 74 73 76 75 77 74 76 75 75 75 75 76 58~86] 0% 75 (713~ 77 ) 75
4 [ BOD 31 27 3 21 40 22 20 i3 21 117 18 17 25 0% N (G L D) N
SS 32 44 52 6.4 104 6.0 6.8 56 6.8 124 6.8 116 50 0% A [V ) 7.1
& [ DO ( ~ )
ABEEHER 0 0 0 2600 330 110 360 4,000 500 0 0 0 3000 8% 660 IC 0 ~ 4000 | 660
B [ mEnE <1.0 <i.0 <10 <10 <i0 <10 <10 <1.0 <10 <10 <10 <i0 5 0% 0[O0 =00 0
Jz/—IE <0.005 <0.005 1 0% <0005 J( <0005 ~""<0005 )| <0.005
# [ <0.04 <0.04 3 0% <004 (<004 ~""<004 <004
B <0.01 <0.01 5 0% <001 U <001 T~""<001 <001
15 | AR <0.06 <0.06 3 0% <006 |( <006 ~ <006 )| <0.06
RERET AL <0.02 <0.02 3 0% <002 (<002 ~""%002 | <0.02
B [ 504 <0.04 {0.04 2 0% <0.04 J(<0.04T="T%0.04 <004
Iv%k <0.1 <0.1 8 0% <01 _JC <01~ <01 | __<oi
AR L <0.01 <0.01 0.1 0% <001 U <001 T~""<001 | <001
ST <0.1 <0.1 i 0% POV (RO ARV IR CX]
)Y <0.1 <0.1 i 0% <04 O =00 o
A | $a <0.01 <0.01 0.1 0% <001 ¢ <001 T~ <oo0i )| <001
| AffZ0L {0.04 <0.04 0.5 0% <004 (<004 ~""<004 <004
BIES £0.01 <0.01 0.1 0% <001 U <001 T~""<001 | <001
| JKER <0.0005 <0.0005 0.005 0% [ <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
= [ 7FLXILKE <0.0005 <0.0005 FEHT 0% ] <0.0005 [(<0.0005 ~ <0.0005 )| <0.0005
PCB <0.0005 <0.0005 0.003 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
FJ7ERIFLY <0.0005 <0.0005 0.3 0% [ <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
FF59R0IFLY <0.0005 <0.0005 0.1 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
W [ Coroaiey <0.001 <0.001 0.2 0% <0002 JC7<0002  ~""<0.002 )| <0.002
PR ES <0.0002 <0.0002 0.02 0% | <0.0002 |( <0.0002 ~ <0.0002 )| <0.0002
1, 2—YhOAT1%Y <0.0004 <0.0004 0.04 0% | <0.0004 |( <0.0004 ~ <0.0004 )| <0.0004
1, 1—Y5ARIFLY <0.001 <0.001 i 0% <0001 JC <0001 ~"<0.001 )| <0.001
B [ Y2=1, 2—y%001FLY <0.001 <0.001 0.4 0% <0001 JC <0001 ~""<0.001 )| <0.001
1, 1, 1—F%ARI%Y <0.0005 <0.0005 3 0% | <0.0005 |( <0.0005 ~ <0.0005 )| <0.0005
1, 1, 2—MJ/500T%Y <0.0006 <0.0006 0.06 0% | <0.0006 |( <0.0006 ~ <0.0006 )|  <0.0006
1, 3—Y /A7 AAY <0.0002 <0.0002 0.02 0% [ <0.0002 |( <0.0002 ~ <0.0002 )| <0.0002
FI5L <0.001 <0.001 0.06 0% <0001 JC <0001 ~""<0.001 )| <0.001
PSP <0.001 <0.001 0.03 0% <0001 JC <0001 ~""<0.001 )| <0.001
FARAILT <0.001 <0.001 0.2 0% <0001 JC <0001 ~""<0.001 )| <0.001
¥y <0.001 <0.001 0.1 0% <0001 JC <0001 ~""<0.001 )| <0.001
EES 0.01 <0.01 10 0% <001 ¢ <001 T~ 001 ) o001
FLUEZT . FUE=Y L BRERHELAY 5.9 4.1 100 0% 5.0 ( 4.1 ~ 5.9 ) 5.0
LY £0.01 <0.01 0.1 0% <001 O <001 T~""<001 | <001
1, 4—SFH X5y <0.005 <0.005 05 0% £0.005 J(<0:005~""<0.005 )| <0.005
EX-$3 58 36 73 54 54 49 47 50 45 8.6 54 54 55 |36~ 86 ) 55
EIPD 051 0.05 0.37 0.29 0.17 0.10 0.15 0.16 0.11 0.61 0.10 0.17 023 [C005 ~"061 )| 023
A4 REEtER] 0.06 <0.05 £0.05 £0.05 <0.05 0.05 £0.05 £0.05 £0.05 0.06 £0.05 0.05 <0.05 (<005 ="0.06 O] 0.05




